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Objective/Learning Target: 
Students will find the solution to a system of linear equations 

by substitution.



Click the link for a Brainstarter.

   

https://za.ixl.com/math/grade-9/solve-simultaneous-equations-using-substitution


Let’s Get Started:
                                  Watch the Video  

Remember “Take Notes”

https://edpuzzle.com/media/5e94db7c8779063f1bf77484
https://edpuzzle.com/media/5e88e0174977093efd3118be


Steps to Solving System of Equations by Substitution:
              x + 3y = 6            2x + 3y = -12

1. Isolate a variables in one of the equations (either y= or x=)
    x + 3y = 6 
       -3y       -3y
     x = 6- 3y

2. Substitute the isolated variable into the second equation.
2(6 - 3y) + 8y = -12
 
You now have an equation with only one variable



3. Solve the equation
12 - 6y + 8y = -12
12 + 2y  = -12
-12           -12
 2y = -24                                 
 2        2
  y = -12

4. Substitute the solution from step 3 into one of the original 
equations and solve.
   x + 3y = 6
   x + 3(-12) = 6
   x + -36 = 6

   +36   +36
X = 42

 



5. Your intersection point is (42, -12)

6. Check your solution by substituting the values into one of 
the equations.
        x + 3y = 6
       42 + 3(-12) = 6
        42 -36 = 6
              6 = 6



Now it’s your turn!
● Click the Link
● Click Join
● Click Continue 

without Signing In
● Enter your first 

name
● Follow the 

directions to 
complete each part 
of the activity.

https://student.desmos.com?prepopulateCode=nzq9rq


Additional Practice:
Click on the link below to get additional practice and to check your 

understanding!

Solution to a System of Equations

https://quizizz.com/join?gc=174692

